REFPEEERIRARRICE T 2RAMEGHGTTE GBE)

REMREDOHFED 7= I B L 72ik# 13, HIEICE T 2 X0 SG@EE D

R6.1.17 [EHISRESFEBRE
R6.3.13 LB 2GS

F##& (5,000) ML EoD

EHErSOAaEE T3
2770, REEOHED -0 ICEL 72k 13, HEICES 3XEox@EEo (e L 43
1. ik &
ES B (AEE&0&aEEE) A (R5 EETRE)
BR | BB emEaH 180,000 F4
1 Rl EiH (3/4) 135,000 F4
2 Rl e (1/2) 90,000
3 I=Ei=k B 0H
4 ZEE (5,000) UL FEo#%Ey REE D AR 82,740 M
@ (5,000) ML Eo#EgEy FKEEQBEE LA
5 102,870
A
2. BHS
ES g (AEEOaEEE) A (R5 EiEcilE)
B | —EBEE (EA&%E 2,000 FLESL) 169,000 4
(%]
i RS (EfH) AE
5,000 UL Eogé 14
(N - WGhH - EOHE - TR - KE - REBW - H 24 - K - ¥ - #H5)
1,000 FILL_E 5,000 FAiE o £34 10
1,000 M D 5 8
e - A3 7
| FNES [ 7
At 16




